| N of simulated tracks vs dxy |

articles

=
o
[6;]

TrackingP
[
Y

=
o
w

102

10

ot-vo

Rat

0.95

1f

.......................................................................

55-20-15-10 -5 05 10 15 20 25

TP dxy (cm)

N of associated tracks (simToReco) vs dxy |

Reconstructed TPs

=
o
N

atio

=
o
w

1 .T

_2ET50-15T10 =8 0 5 10 15 20 25

TP dxy (cm)

Frt_T Torigimat

N of

simulated track

Particles

Tracking
2

=
o
w

10?

10

JanUpdate-statErr

DQM_TTRFT
DQM”mkFIt_TT_JanUpdate-noErr
DOM”_mk

DOM”mk JanUpdate-systErr
DOQM~mk

.....................................................................

oL-vo

Rati

0.95

-30

20 30
TP dz (cm)

=20

—JanUpdate-bothErr

Ratio

Recons@cted TPs
o

=
o

TP dz (cm)



	Contents
	Page 1


